
Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.38 Main Catalogue
E  10/2012

Plug-in units – for VME

3 U

04602058

6 U

04602059

for VME

� At 6 U the board position can be offset by 1 HP to the right by
swapping the top and bottom board supports; thus space is
created for SMD components on the left (solder) side; 
for board thickness 1.6 mm only

Delivery comprises (kit)

Order Information

Kits
Plug-in units with trapeziform extractor 
handle, type 1 – front panel, U-profile, 
shielded

5

4

12

13

14

7

8

9

11

6

2

3

1

7

9 8

8

14 13

9

11

4a

6

1a

2

3

1

4

12

Item Qty Description
3 U 6 U

1 1 1 Extractor handle, trapeziform type, PPE, grey, bottom
1a - 1 Extractor handle, trapeziform type, PPE, grey, top
2 1 2 Identification plate, Al, 1.5 mm, anodised, 

cut edges plain
3 1 2 Pivot bush, Ms
4 1 1 Board support, die-cast zinc, bottom
4a - 1 Board support, die-cast zinc, top
5 1 - Board support, die-cast zinc 
6 1 1 Front panel, U profile, for trapeziform extractor 

handle, front anodised, rear conductive
7 2 2 Alignment pin, pressed-in, stainless steel
8 2 2 Sleeve, PA, grey, up to 7 HP front panel width
8 4 4 Sleeve, PA, grey, from 8 HP front panel width
9 2 2 Collar screw, Pozidrive/slot, St, nickel-plated, 

M2.5 × 12.3, front panel width up to 7 HP
9 4 4 Collar screw, Pozidrive/slot, St, nickel-plated, 

M2.5 × 12.3, front panel width from 8 HP 
11 1 2 Raised countersunk panhead screw, M2.5 × 8
12 1 1 EMC gasket (textile)
13 2 2 Washer, A2.7, DIN 125
14 2 2 Pozidrive flathead screw, St, nickel-plated, 

M2.5 × 10

Width 3 U 6 U
HP Part no. Part no.
4 20848-485 20848-492
6 20848-487 20848-494
8 20848-489 20848-496
10 20848-490 20848-497
12 20848-491 20848-498

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_2_steckbaugruppen_e.fm  Seite 38  Mittwoch, 19. September 2012  1:05 13




